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QUESTION 1

Which of the following statements about Option 3X dual connectivity is FALSE? 

A. VoLTE traffic is handled by the LTE network. 

B. Dual connectivity is used for high throughput services such as eMBB. 

C. When NR radio quality becomes sub-optimal, gNB decides to split the bearer. 

D. Both eNB and gNB are connected with S1-U interfaces to SGW. 

Correct Answer: A 

 

 

QUESTION 2

Which of the following is NOT an advantage of the 5GS service-based architecture? 

A. Application programming interfaces (APIs) are used to invoke services. 

B. Service-based interfaces are point-to-point. 

C. The service-based architecture enables flexible addition of new network functions and services. 

D. Service producers are not aware of service consumers. 

Correct Answer: C 

 

 

QUESTION 3

Which of the following statements about 5G NG-RAN is FALSE? 

A. The Xn interface is used to connect gNB to ng-eNB. 

B. The NG interface is used to connect ng-eNB to UPF. 

C. The Xn interface is used to connect ng-eNB to AMF. 

D. The NG interface is used to connect gNB to NGC. 

Correct Answer: A 

Reference: https://www.etsi.org/deliver/etsi_ts/138400_138499/138401/15.02.00_60/ts_138401v150200p.pdf (12) 

 

QUESTION 4
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Which of the following statements about the downlink user plane data flow in Option 3X is FALSE? 

A. Data packets of bearers that do not use dual connectivity are sent from EPC to UE through eNB. 

B. When NR coverage is good, data packets of bearers that use dual connectivity are sent from EPC to UE using
secondary cell group bearers. 

C. When NR coverage degrades, the gNB decides when to use split bearers and send some of the packets received
from the core through eNB. 

D. When NR coverage is poor, data packets of bearers that use dual connectivity are sent to the UE through eNB. 

Correct Answer: D 

 

 

QUESTION 5

A UE has a PDU session established using slice 1. The operator removes slice 1 from the UE subscription data stored
in UDM. Which of the following actions is NOT performed as a result? 

A. UDM notifies the serving AMF about the UE subscription data modification. 

B. AMF initiates the UE configuration update procedure. 

C. AMF requests the UE to release the established PDU session. 

D. UE updates its slicing information with the data received from AMF. 

Correct Answer: B 

 

Latest 4A0-M10 Dumps 4A0-M10 VCE Dumps 4A0-M10 Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest 4A0-M10 Dumps | 4A0-M10 VCE Dumps | 4A0-M10 Exam Questions                                3 / 3

https://www.pass4itsure.com/4a0-m10.html
https://www.pass4itsure.com/4a0-m10.html
https://www.pass4itsure.com/4a0-m10.html
http://www.tcpdf.org
https://www.pass4itsure.com/4a0-m10.html
https://www.pass4itsure.com/4a0-m10.html
https://www.pass4itsure.com/4a0-m10.html

